







Exercise i to

1 K2 7 10 0
i lo

c z c 5
x 2 x 5 o z s

Either K 2 0 or X 5 0
x 2 2 5

2 IZ t 5 c 14 0 ti 14
l 14

x 2 x 7 o tr 7
Z t

Either x 2 0 or x 1 7 0
c 52 x 7

3 x 2 so 1 I O ti ti
a l

x 1 x 0

Either x I e o or X 1 0

KI l x I

4 X t 11 24 0 ti za
l 24

X 3 sc 1 8 TO 2 t z
Z 12

Either x c 3 0 or act 8 0 t 3 8

x 3 x 8

Quadratic Equations Revision



5 v2 x 56 0 I 56
se 7 se 8 TO I 56

Z 28
Either x 7 0 or act 8 0 Z 128

14
x 7 8 a 14

7 8
7 c 8

The Quadratic Formula

To solve asf be t c 0

Give your answers to 2 d p

x
bI b2 4ac
Za

Ext 2
2

3 11 0

a_ 2 be 3 c 11

x 1 3 435 461CD
2 2

x t 3 19 88
d

x t 31197
d

x 1 3 tha or k 1 3 597
4 4



K 3.21 x I 71

Exercise Solve to 2 d p

D 3 2 Sx 7 o x 2.57
x 0.91

2 4 2
x I O K 0.39

0.64

3 2 2 7 2 o x 0.31
c 3.19

4 8 2 19 5 0 K o 30

2C 2.07

5 5 2 8 3 0 x 1.91
Sc 0.31


